ACURA

CODING

- 231376
- 230057
- 230058

ASSEMBLY GUIDE

nesthouz.com

Read the instruction carefully. Remove all the wrapping
material, staples and straps from the carton. Refer to
the hardware and furniture part list for guidance. Be
sure that you have all the parts before you start
assembling. Place all the wooden furniture part on a

clean and flat soft surface, such as carpet or
rubbermat to prevent from scratches.

CAUTION
KEEP ALL THE PARTS OUT OF REACH OF CHILDREN .

ISO 9001:2015

Reg. No. 000435-1-MY-1-QMS

HAREWARE SINGLE | ARM
ITEM PHOTO NAME OTTOMAN SEATER| REST ITEM PHOTO PARTS NAME QTY
JCBC
@ | eowe) | oS e 4 4 3
™ ARM REST 1
FLAT WASHER 8 8 6
-/ M8
@ HEX NUT 4 4 3
1 1 1
®| == SPANNER SINGLE SEATER 1
® ALLEN KEY ] ] ]
M5 x 65 MM
, JCBC ]
-
@ () M6 X 50 MM 0 0 2 @ OTTOMAN
© © FLAT WASHER 0 0 )
M6
® S ALLEN KEY 0 0 1
M4 x 65 MM
O % PLASTIC LEG 4 4 4
CSK SCREW
O, ¥ M4 x 32 MM 4 4 4

,shesthouz.com




A C U I aA ASSEMBLY GUIDE

CODING -

- 231376
- 230057
- 230058

ISO 9001:2015
35-1-MY-1-QMS

RRRRRRR 000435-1-MY-1

4

X2

SAN .\\\\\“\\\\\(\N\ ((

F o H
/\/

AN

) /

\\

\

‘2
>
m

For Arm Rest only.

< ’ \
0% w
q‘ / —

,,snesthouz.com




B C U RA ASSEMBLY GUIDE
Pt "'ﬂ‘ ] T

CODING e e—

- 231376
- 230057
- 230058

ISO 9001:2015
Reg. No. 000435-1-MY-1-QMS

nesthouz.com

EXAMPLE
lele  “e°Rf  [ofeTelal
[ - ® \@f @1@ [@i ® ®[J®[ ® 9:@
d@b,:@ il Sl -

R - © © o
COMPONENTS

A B C

Arm Single Ottoman

Rest Seater

;,shesthouz.com




